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f(x) = -1/4x(x-2)’ (x + 4)°

Plot x intercepts

Plot end behavior

Plot y intercept

Sketch passes and bounces
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Assignment:

February 26, 2021

pg. 216 # 1,3-6, all
And Pick 3 from each section
7-16 , 23-30, and 31-36

ANALYZING RELATIONSHIPS In Exercises 3—6, match the

function with its graph.

3. flx)=(x— Dix—2)ix +2)

X=1 x=2 %¢=-1
4. h(x) = (x + 2)%x + 1)

3 -

k= x<I1C

5 gx)=(x+ Dix — Dix+2)

X=-_%x>{ x=-
6. flx)=(r— 1R +2)

X=| b %=1
A B.
C. ¥ D ¥

T 2
2 | x|
2
2 A

In Exercises 23-30, graph the function. Identify the

x-intercepts and the points where the local maximums
and local minimums occur. Determine the intervals for

which the function is increasing or decreasing.
(See Example 3.)

23, g =2+ B2 -3

24. g(x)= —x*+ 3x

25. hix)=x*— 3% +x
_J'l.\J =xr -4+ 242

27. flx) =050 — 2x + 25

28. flx) = 0.7x* = 3x% + 5x

29. hix)=x"+ 22— 17x — 4
30. g)=x* -5+ 2+ x—3

In Exercises 7-14, graph the function. (See Example 1.)

7. flo = %x+ 1) 8. fla) = (x + 2)%x + 4)?
9. h(x) = (x+ 1Px = ix—3)
10, glx)=4x+ Dix +2x— 1)
M. hix) =, w ‘_m 3
Dy~ 325

2lx ——d\ + 4|\ + h:\l\
'lzx x-v‘(x—?)cf

1‘35(%:(\1 el ~JP\_X x4 11+(-.7,'~9

14, flx) = (x — 427 j\ 1)

In Exercises 31-36, estimate the coordinates of each
turning point. State whether each corresponds to a local
maximum or a local minimum. Then estimate the real
zeros and find the least possible degree of the function.

31.
Jocal H&.( (1_.(-5
3 - M eas) A
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35. 36. "
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25,

26.

1. turning 7

(4, 0)

5

The x-intercepts of the graph are x = —1.88, x = 0,
x = (.35, and x = 1.53. The function has a local maximum at

(0.17, 0.08) and local minimums at (—1.30, —3.51) and (1.13,

—1.07); The function is increasing when
=1.30 <x<0.17 and x > 1.13 and is decreasing when
x<—1.30and 0.17 <x< 1.13.

The x-intercepts of the graph are x = —2.16,x = 1,

and x = 1.75. The function has a local maximum at
(—1.63, 10.47) and a local minimum at (1.46, —1.68); The
function is increasing when x < —1.63 and x > 1.46 and is
decreasing when —1.63 < x < 1.46.

February 26, 2021

. Because 0 is a repeated zero with an even power, the graph

should only touch the x-axis at 0, not cross it. Because 3 is a
repeated zero with an odd power, the graph should cross the

x-axis at 3.

23. 18

[V 4

-6

The x-intercepts of the graph are x = —3.90, x = —0.67, and x
= ().57. The function has a local maximum at

(—2.67, 15.96) and a local minimum at (0, —3); The function
is increasing when x < —2.67 and x > 0 and is decreasing
when —2.67 <x<0.

24.

\ 5
The x-intercepts of the graph are x = 0 and x = 1.44. The

function has a local maximum at (0.91, 2.04); The function is
increasing when x < 0.91 and is decreasing when x > 0.91.

7
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27.

28.

i 29.

-6 ’/\ 6
-3

The x-intercept of the graph is x = —2.46. The function has
a local maximum at (—1.15, 4.04) and a local minimum at
(1.15, 0.96); The function is increasing when x < —1.15 and x
> 1.15 and is decreasing when —1.15 <x < L.15.

3
-6 l 6 30.

-10

The x-intercepts of the graph are x = —1.15, x = 0,

x = 1.64, and x = 3.79. The function has a local maximum at
(0.87, 2.78) and local minimums at (—0.68, —2.31) and (3.02,
—9.30); The function is increasing when

—0.68 <x < 0.87 and x > 3.02 and is decreasing when

X< —0.68 and 0.87 <x <3.02.

32.

2]

34.

(—0.29, 0.48) and (0.29, —0.48): (—0.29, 0.48) corresponds
to a local maximum and (0.29, —0.48) corresponds to a local
minimum; The real zeros are —0.5, 0. and 0.5. The function is
of at least degree 3.

(—2.91, —1.36) and (0.57, —6.63); (—2.91, —1.36)
corresponds to a local maximum and (0.57, —6.63)
corresponds to a local minimum: The real zero is 2.5. The
function is of at least degree 3.

(1.0). (3, 0), and (2, —2): (1, 0) and (3. 0) correspond

to local maximums, and (2, —2) corresponds to a local
minimum: The real zeros are 1 and 3. The function is of at
least degree 4.

(—1.22,5.07),(1.96, 7.71), (0.15, —48.35). and
(2.79, —3.74): (—1.22, 5.07) and (1.96, 7.71) correspond
to local maximums, and (0.15, —48.35) and (2.79, —3.74)

correspond to local minimums; The real zeros are —1.4, — 1.,

1.5, 2.5, and 3. The function is of at least degree 5.
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24

~24

The x-intercepts of the graph are x = —2.10, x = —0.23, and x
= 1.97. The function has a local maximum at

(—1.46, 18.45) and a local minimum at (1.25, —19.07); The
function is increasing when x < —1.46 and x > 1.25 and is
decreasing when —1.46 < x < 1.25.

10
50

The x-intercepts of the graph are x = —0.77 and x = 4.54.
The function has a local maximum at (0.47, —2.56) and
local minimums at (—0.16, —3.09) and (3.44, —39.40): The
function is increasing when —0.16 <x < 0.47 and x > 3.44
and is decreasing when x < —0.16 and 0.47 <x < 3.44.

35, (—1.25, —10.65): (—1.25. —10.65) corresponds to a local
minimum: The real zeros are —2.07 and 1.78. The function
is of at least degree 4.

36. (—1.18, —=7.57): (—1.18, —7.57) corresponds to a local

minimum; The zeros are —2.45 and 2.45. The function is of
at least degree 4.
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